                                     Математика
1.Пресметни:
8 + 2=                   8 + 4 =              9 + 8 =
2+ 8 =                   5 + 8 =               8 +10 =
8 +5 =                   8+ 6 =
4 +8 =                    7 + 8 =
8 +3 =                    8 + 8 =

2. Пресметни:
8 +      = 11                 + 3 = 11
8 +     = 13                  + 5 = 13
8 +     = 15                  + 7 = 15

3. Петя има 8 молива. Подарили и още 3 молива. Колко общо моливи има Петя?

4. Начертай квадрат със страна 2см. 

